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@ Animation English Lesson 141

Vocabulary Quiz

otz XOf sigste Fof TOE 44, FO Hofof siEst= o= RE &AM

. A=A 1. store

1

2. = 2. try
3. 7ICt2|Ct, AIS ST
4
5

H A
.T'__,T'__jn_l'

CEye

1.¢4 3 Xt 22 €21 ot AL?
Why is OOO woman trying [ open the —
Ooogo?

2. A& 7HA o2 7t A ofd.

She OO0 to OO inside CICIC] store. -
3. 7tAl= OF% 22 o gQlL?
00 D00 00000 0000 0Oo? -
4.8, 1 7tH= ot& E2 2 G0,
No, the IO is not CICICIC] yet. -
5. A= O AN EAS & ZH0|L?

—)
What (IO she O inside 0] store?
6. A& HeB|NMS & HOL.

—_

) o | [

7. A= 7HA etez SO{7t{ ™ 7|C2{OFt St ?
Will she OO0 to wait (O go inside [I[J[] store?

8. 8, A& 7HHZ S0{7t2{ ™ 7|Ct2{OFTh oY
Yes, 10 will OOOO to JOOO to IO inside  —
100 store.

9. 4= oLt @) 7|cha{of &tL?
OO4d long OOO0O she OOOO to OOOO?

10. A= 108 &2t 7|Ck2{0oF df.
She will OO0 to wait OO minutes.
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Animation English Lesson 142

Vocabulary Quiz

b2 50| sfgots Fol HOE 44, Bo HOo 3iFste otz e LM 8.

rot

1. catchQ| 7. TpHE A}
2. 7terett, E=shct

3. &, 247, #X|

4. T OfEd

Sentence Drill

FO|T otz 285 21 280 wI Cojlss AMR.

0.

2. d& 45 SO =271 E0 &5 A o]

He OO washing OO because (OO just OO OOOO outside.

3. d= HoM A= A2

0000 000 00 o0 gogoooe?

4. A= HoM F2 7HX22 =240

He played (OO the dirt OO OOO0OOO.

5. 0= 2OtL} 3IY F H0M %L

For OO0 long OO0 he OOOO in JOO dirt?

6. 1= 5= S & H0IM =201

00 played OO the OO0 for DOOO minutes.
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7. 1 H7|M ZOS EUAL?
000 OO0 00000 0000oOoOd ogaoom?

8. &, A= AH7IM =0r#E TUO.
I O

9. o= EL?

0 o o o

10. S, Stole H4.

I I A I 0 O [ |
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Animation English Lesson 143

Vocabulary Quiz

b2 50| sfgots Fol HOE 44, Bo HOo 3iFste otz e LM 8.

rot

2 5= 1. chance
2| Tk K| C
Z7Y, HE

vk w2

1.3 A= YHOZIE 90 FZotn 5t /ARYAL?

Was the OO trying to OO over the OOO?

2. 8, A AAs g0 F=staqn AU

Yes, JO was JOOOO0O to OOOO over OO

3. = 97| /= =& LR

OO0 he OOOO over IO bar?

4. OtY, O= FHISHX| X0

No, he OO not jump OOOO it

5. 1 A= 2h7t LiA BRSO 22{H QULf?
Is OO0 man OOOOOO0 the OO because [ is OOO?

6. 3, A= =t7F LtM BEEO| LES2{A A0,
OO0, he OO hitting OO0 mat OOOOOOO he OO angry.

Wn;wmmmmm
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7. 0 HO7| 9l H=g E OE V|5 E ¥a

Will he OO0 another chance OO jump over O bar?

8. OtL, d&= IA fIZ2 H=g =+ Us = OE 7[=E X R HoL

No, OO will OO0 get OOOOOOO chance OO jump OOOO it

9. A= OL|Z 2
OOoO0o00 0odo 0ooo oog ooz

10. = ZFloz Zt 7)ot
OO0 0000 OO oooo.
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@ Animation English Lesson 144

Vocabulary Quiz

oha SO siYsts Fof CHOjE A1, Fof Cho{of siYdte ota X2 MM e,
1 HH}%

2. &Ct

3. "IXtE

4. UHIE, O (AHE2) T

FO|Z o2 282 21 EZE0| #T HoSS AMLa.

1. 3 A= O[ZAtL?

OO0O0d oo o™ ogo godard? —
2. &, & He|7IEE OHEO.

*
000 OO oo™ gooo.
3. 05 iEshe ChsE %2 B0t
0000 he OO0 to OO hair? -
4. &, = ME|7te CtEs= A2 E0td.
Yes, he CJCICI010] to cut CIOICIC -
5. HFEFO| T2|Zteto] Bo| EOo{™ UL?

q

Is OO0O0O0 a OO0 of OOOO on OO ground?

6. 5, HISO| ME2|7t&0] BLO] ZoiX QLo
D00, there OO a OO0 of OO0OO on OO0 —

ground.

7. 0 Xt= 2| £0| YotLf B

How much OO does the (I have? -
8. 1= 02| 0| X o}

He OO0 not D000 much OO0 ~
9. & HZ|E W XHE = UL?

000 00 000 0000 00000002 -
10. 8, A& OtF ®a| XI& = 4

Yes, he 010 cut hair OCIO0 quickly. -
................................................................................ S —
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Animation English Lesson 145

Vocabulary Quiz

b2 50| sfgots Fol HOE 44, Bo HOo 3iFste otz e LM 8.

rot

¢X|’ A XA
X T, O

HE|7F M =M B oty

;= Ly

3ol 7N, BYBC

—

M wn o=

ML}

Sentence Drill
0|7l 82 SRS =1 2HO| Wl CH|ES MAL.
1.1 Yxe MEFZRAL?
OO0 OO0 Oodd goooo gogodr?

2. &, A= MEFZEAO0f
000 OO 00 0Oooog oogoo.

3. A= Ol ofojE2 /g d=25 USULR

OOO00O he OOOO presents OO0 little OOOOOOOO?

4.8, 1k 02 OlO|SS I MBS BIS

Yes, he (JOO0 presents for OO0 children.

5. 1& 19 SYBEN TS AT QUL
[Jon

What (00 he OO0 OO0 n OO0 clipboard?

6. 1 17t 7tR|D Qi Mol 42 MI o).
00O is OOO0O000 the OOOOOO of OOOOOOON that I has.
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7. XNg7tk| 27t 7HX[D e d=2 SOt &lL?

How many COOOOOOO does he IO so far?

8. d& XIZ7tX| 2007HE 7K1 U0
He D00 200 OO0OO0OOO0O so OO

9. A= AASS Xt Of0|SHA & AO[L|?

—

0000 he OOOO them OO good OOOOOOME?

10. 8, A= AASS Aot Oo|S0A & 7OF.
Yes, he OO give them (O] good children.

Whitney English o
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Animation English Lesson 146

Vocabulary Quiz

ot= X0 siEst= ol THo{E A4 Fof HHojof SiFst= otz K2 M .
1. 224 1. check

2. =L}, FCt

3. 28, Mg, g

4. 52

5. o E, of

Sentence Drill
=o|7 32 282 =1 x| WA CH|SS MAQ.

1. 3 Of7|= of=L?
00 OO0 O0ooo oooo?

2. 8, O+ otmt.
000 0O 0O goao.

3.9 3 Ofxt= obr|ol 2o 2EAE F1 RALP?
000 is D00 woman OOO0O0OO0O the D00DOO0OO0O0OO in OO0 baby's 0OOOO?

4. A= H22 M3ASH| flsh 1A= 1 9.
She is JOOO0O0OO it in OO check his DOO00O0O0OO0OO.

5. 0b7[el M22 =LI?

OO0 000 0000 0hoooooooog gogoe

.S, 0® =0t

6
N v [
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7. 0b7]= o2 Slofof e

0000 OO0 00oo 0oob oooooooo?

8. & & °f= Hojof & oL
I o I B

9. 1 op7|e EE Eip

O0O0O0 the OO0 go O sleep?

10. 8, A= = & 7Ok

=
Yes, he OO0 go to OOIOOO.

Whitney €nglish .
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Animation English Lesson 147
Vocabulary Quiz
ot= SO sliEste @Ol THOlE A4, FO| THoof SsiEStE oha 52 MM
1. (MOl AN CH 7| |50t
2. A%
3. g
4. ®C}t
Sentence Drill
FOZl o2 ES B0 20| I CHOESS MM L.
1. 1 2= Ot Z H3N?
0000 OO OOooo oo oooooooooe
2. 8, HEZ 7oL
000 OO Ooooo ggo ooooooooo.
3. 014 OFEAIALR W2|Ye SOpsiL?
OO0 she OOOO to OO cereal (1] breakfast?
4. &, A= OFEHAIME MN2|g He A2 E0ts).
Yes, she [J1JC] to eat (1] for breakfast.
5. 14 R ORZ H3R
How (I bowls (1O she (7
6. A= F 1R Z W32 7Ok
000 0Oooo oOoo ogg ooooo.
WMWWW
Whitney €nglish 12




7. 4= O ME[EE HAa AL?

What kind OO cereal is (0 eating?

8. Jli= Giffee-O'sE H1 QIO

I o

9. A= Y54t Z0| OFHHAE e

O0O0O0 her OODOOOOO eat OOOOOOOOO with OO?

10. &, 19| 82 et g) HE Aok
Yes, her JOOOOOO will eat OO her.

Whitney English .
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@ Animation English Lesson 148

Vocabulary Quiz

otz XOf sigste Fof TOE 44, FO Hofof siEst= o= RE &AM

Ct
RS |

. =L, 0iEstet

1
2
3. Y7, LHREDY
4

1.1 YRte #azL?

00 000 000 0000002 -
2. 2, & Hjamf

OO0 00 00 0Oooooo. ~
3. = X7 gt Ot2|E Cf HE?

0000 he OO0 the 00000 chicken? -
4. 8, 1= o Of2| .t HZ HOf,

Yes, he (1] eat the 1] chicken. -
5. 0 HE H2W?

0000 OO0 000 000 00000z ~
6. OtL|, = E HX| A4S 74O}

00, he 0OOO not OO0 the OOOOO. -
7. 0= WZ RaAg e

What will (J[J do with (JJ[J bones? -
8. = WE 19| 7Hof|A =& HOf

_)

He OO give IO bones [ his OO

9. 1 Jj= 1 WE 2eup

0000 the OO0 bury DO bones? -
10. &, 77t AA=2 =2 HOL

Yes, the 10 will bury OOICICT, -
................................................................................ S ——

Whitney €nglish 14
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Animation English Lesson 149

Vocabulary Quiz

1. 2, A5G, 2dstt 1. south
2. Y, 34 ¢z, 3% 2. flag
3. MA

4. LIEFLHCY, o|ojstct, & & shot

5. &

1.3 Gxts S5 AL

Is the OO a soccer JOOOOO? -
2. 8, de 57 U0
Yes, 007 is [ soccer OOIOIOO0. -
3. 3= EEHOM B7I5 & AOo[L?
D000 he OOOD at OO0 World D002 -
4.8, 2 YEYOM FE T Hok
Yes, he OO0 play at OO0 World Cup. -
5. 0= A7|M tietls tHaE St ALJ?

_)
Is (13 representing (IO Korea C1OIO?
6. 3, 1= HtZ=S tESD 0.
OO0, he OO representing OO Korea. -
7. A= AEAL?

——

000 OO oooooooo?

8. 3, A= 2€d 3¢ oig ASOL.
Yes, (OO0 practiced OJOOOO day OO one —
ooga.

9. 29| B2 =AM O|ZN?

OO00 his 0000 win 00 the OOOOO Cup?
10. 8, 19| B2 EEZOAM O|Z HOf.
_)

Yes, his OO0 will win OO the World OOI0.

Whitney €ngfish .
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Animation English Lesson 150

Vocabulary Quiz

12 0| STt Qo THO{E MT, Fo| THO{of I D 2 MM L.
X S AL} 1. cup

7]

Mk M ok

717

cre

rot

vk w2

Sentence Drill
=o|7 32 282 =1 x| WA CH|SS MAQ.

1. 3 =Xt oXp= AF UAL?
Are the (] and woman ] work?

2. 8, A2 HZ A9

0o 0ooo 0og 0o goda.

3. 052 FAA F0[Lp?
ey

00 a JOOOOO break?

3
=
2
O
0
O
o |
Q
O
0
0
O
0
O
O
g
g

5. =2 70| Cisto] OJok7| Bt RAL?
0000 OO0 0000 ooobooo ooooao?

Ag &7t o|ok7| st U
O about OOOO they OOOO do OOOOO work.

Whitney €ngfish -
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7. 52 0| 2 = & MYES Hedy Z AoL)?

Will they [ eat dinner OO OO after work?

8.8 1 2 Bt = @ MYS H2g Z Aok

= o jain i
=T =
Yes, OO0 will OO eat OO0 together OO work.

9. A=2 OCoM XY= 8= AO[L|?

1= "1

0 A O

10. 152 YEFEOM ME= Ha ok

They will OO0 dinner at [ fast food OO OOOOOOOO.

Whitney English .
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Animation English

Lesson 151

Vocabulary Quiz

FO|T otz 285 21 280 wI Cojlss AMR.

0.

1.9 3 Me 22
Why is OO dog drinking OOOOO?

OpAlZL QAL?

2. A& #30| LtM 25 O[22 Ao,

It OO drinking JOOOO because OO is JOOOOOO.

3. d& of 230 LtL?
000 00O OO ooogoood?

4. Oz 9 4Z420/HE FO|M Z350| Lt
It is JOOOO0OO because it OO ran four OOOOO0O0O0O00.

5. 7t d JhoA SZ0|E ZUALI?

Who OO0 the OOOOOO on OO dog?

6. 1 7§ F2l0| 7oA =ZO0[E ZU0.
OO0 dog's OOOOO put OO collar OO the OO

yd .’
Whitney EngI’iSh
- YEUBA
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7. 1 =Z0|= Ee|=0| oA Ztt0l & ZHA| Bt 2
Does the OO0 keep bugs OO from the JO7?

8. 3, A2 HelS0| 7oA ZH7to] = ZHA 8.
Yes, OO keeps OO0 away OOOO the OOO.

9. A 7ie] FeI2 A JE sEL]?

OO0 the OO owner CICICC care (10 the 7

10. 8, 2 74 22 D HE oi® & =kL

Yes, the COOO'0 owner takes OO care of (OO dog.

Whitney English 19
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@ Animation English Lesson 152

Vocabulary Quiz

ot=2 KO siEst= Fol THO|E A4, HOf HHofof SiFdte o2 X8 2M 8.
1. X = 1. university

2. 2o, st BET 2. geography

3. 97|, LR ES}

4. Hrt, SAHEC 2ot

5. 3R/, &R B

Sentence Drill

FO|T otz 285 21 280 wI Cojlss AMR.

1. 1 gXts dEEOo[L?
00 000 000 O Ooooggoe?

2. 8, 1= ddHolofk.
I A v [

3. 0 0SS WAM FtEX|L]?
OO00 he JOOOO at [ high OOOOOO?

4. OfL|, J= CHStuWO|A 7tEX.
No, he OOOOOOMO at a OO OOOOOOOO.

5. A& F& 7S 7tEXL?

O0O0O0 OO0oOo 0oOoo oo ogogoe

6. 1= X[2[stE 7tEX.
00 0000000 000000000 00000

7. A=
ot o

dEolL|?

oo boooooo?

=
o
0

=
0O

8. & A& 28§ WY OOk

Yes, JO is O great JOOOOOO.

9. d& e WdgolY?

0o 00O 0 Ooooboo ooooooo?

10. OfY, = Of AT HEH2 OfL O

|

No, he OO not very OO OIOO0O.

Whitney €ngfish 50
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@ Animation English Lesson 153

Vocabulary Quiz

b2 50| sfgots Fol HOE 44, Bo HOo 3iFste otz e LM 8.

rot

N
N
=2

A
$0

M
il
v
2
ro

\J
Hu

A

\J
N

M
il

v

0 ro M o2
Ho

Hwon o=
2 2 4 L

Sentence Drill

FO|Z o2 282 21 EZE0| #T HoSS AMLa.

0.

1. €0t B2 od 7ts S0 /L

How many OOOO00OO0O00O0O is the OO0 —
carrying?

2. = o7ty = HHE =2 0.

(| o ooogooog oodo -
I I I O

3. A= OL|E7 |2

00 00 00000 ooooogoo? ~

4.8, d= OLE7I Mg 7ot

000 00 OO0 00000 ooooooodao. -

5. 0= OdE 2

_)

00 00 00000 od ooodgoo?

6. 3, 1= OfdS & 7Ok

OOd4d, he OO going O travel. ~

7. A= otz ofdE ZAL?

Where is OO going to 0O0O0O0O0? -

8. d= OfA[OtZ OflS H'E HOL

He OO going I travel (1] Asia. ~

9. A= oo S AL|?

00 he 0OODOOO for OO0 trip? ~

10. 8, A& ofF = A0

Yes, he ([ very excited [(JC1] his trip. -
................................................................................ T

Whitney English 21
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Animation English Lesson 154

Vocabulary Quiz

1. €= FA0 AHEEIL?

0000 000 Jooo 0oog booe

= 0= O Ar8Ek[= O[O
Keys OO used (OO open OOOOOO doors.

3. 0] Eal= A= AL

= T AZE

0000 00O booo 0ooo oooo?

4. 0] g2l 22| ¥ Es o= 7ok

This key OOOOO the door (1 my house.

5.4 Hol Hal & EHE SoHE H QUL?

Have (1 lost 1] house 1] before?

6. OfL, Lt= 2 HE glojHel & gf
00, 1 DOOO never OO0 my OOOOO key.

Whitney €ngfish -
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7. b= He & 24 oo 2astL?

Where do OO keep your JOOOO key?

8. L= 2218 FHLo Fof .
y

| OO0 my OO0 in O pocket.

9. Ul ExF20los S H ZH7F QUALI?

OO0 many OOOO do OO have IO your OO OOOOONO?

10. SO0 37471 A0
| have OOMOO keys on O keychain.

Whitney English 53
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